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cf =ac*” with a=1,00;n=1,00 ¢ =ac with a=1,00;n = 1,00 c; =ac*™ with a=0,75;n=1,00 ¢z =ac with a=0,75;n = 1,00
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Colorimetric filter transfer i=3 Colorimetric filter transfer i=3 Colorimetric filter transfer i=7 Colorimetric filter transfer i=7
¢4 =ac* with a=1,00;n = 0,50 ¢4 =ac with a=1,00; ,50 c; =ac with a=0,25;n = 1,00 ¢ =ac® with a=0,25;n = 1,00
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Colorimetric filter transfer i=4 Colorimetric filter transfer Colorimetric filter transfer i=8 Colorimetric filter transfer
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J-_|TUB-test chart AEG7; Examples of affine colour metric, red R input: rgh*
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Transfemgh* —>rgh*; with i = 1 to 8;c* = maxfgb*) - min(gb*) output: transfer togb*
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